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QUESTION 1

Scenario 3: 

After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing internal and external applications. 

Exhibit. 

A network administrator is receiving complaints that a real-time voice application is not performing well, with choppy
audio, and dead audio especially during peak traffic times. 

What two actions can the administrator take to diagnose and fix the issue? (Choose two.) 

A. Configure a QoS policy to rate limit all traffic during peak times. 

B. Ensure that the realtime application is matching the correct application type using the diagnostics page. 

C. Check the status of the links using the QoE and Transport tabs for any degraded underlay issues or congestion
issues. 

D. Configure a QoS policy to load balance the realtime traffic across all links. 

Correct Answer: AC 
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Scenario 2: 

After completing the branch activation activities for all required branches, the network administrator attempts to test
connectivity between the various branches and between the hubs and branches. The administrator notices a lack of
connectivity despite being certain that configurations have been complete. The administrator also observed that several
users are reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no
access to these applications. Other users at some of the branches claim they cannot get to certain public resources.
The administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 

The SD-WAN Edge at this location has been activated. It is incapable of establishing any overlay tunnels. Due to this
being an internet only branch, no underlay connectivity is present to the hubs. The SD-WAN Edge is connected behind
a firewall and the security team states that all necessary ports are open. 

How can this issue be resolved? 

A. The security team needs to open TCP port 4500 instead of TCP port 2426. 

B. The security team need to open TCP port 2426 outbound but not inbound. 

C. The security team needs to open TCP port 22 instead of TCP port 2426. 

D. The security team needs to open UDP port 2426 outbound and inbound. 

Correct Answer: D 
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Scenario 2: 
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After completing the branch activation activities for all required branches, the network administrator attempts to test
connectivity between the various branches and between the hubs and branches. The administrator notices a lack of
connectivity despite being certain that configurations have been complete. The administrator also observed that several
users are reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no
access to these applications. Other users at some of the branches claim they cannot get to certain public resources.
The administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 

Where can the network administrator check to see what routes are present on the London- site Edge? 

A. Log into the VCO > Configuration > Overlay Flow Control 

B. Log into the VCO > Test and Troubleshoot > Remote Diagnostics > Run "List Paths" 

C. Log into the VCO > Test and Troubleshoot > Remote Diagnostics > Run "Route Table Dump" 

D. Log into the VCO > Monitoring > Overlay Flow Control 

Correct Answer: C 

 

QUESTION 4

Scenario 3: 

After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing; internal and external applications. 

Exhibit. 
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A network administrator is configuring several branches to prefer a single prefix, 10.20.11.0/24, from the Seattle hub
over the New York hub for various application performance reasons. 

What are two effective ways the administrator can accomplish this? (Choose two.) 

A. Modify the AS Path in New York to be shorter for 10.20.11.0/24. 

B. In the hub preferred order in the profile, set the Seattle hub to be preferred over New York. 

C. Modify the AS Path in New York to be longer for 10.20.11.0/24. 

D. In the OFC 10.20.11.0/24, modify the preferred exit point to be Seattle and pin the route. 

Correct Answer: BD 

 

 

QUESTION 5

Scenario 2: 

After completing the branch activation activities for all required branches, the administrator attempts to test connectivity
between the various branches and between the hubs and branches- The administrator notices a lack of connectivity
despite being certain that configurations have been complete. The administrator also observed that several users are
reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no access to
these applications. Other users at some of the branches claim they cannot get to certain public resources. The
administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 
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The tunnel from the Dallas site to the Seattle hub is not coming up. 

What are two things that should be checked to determine the issue? (Choose two.) 

A. Hub WAN Interface might be behind a firewall. 

B. Spoke Edge and Hub Edge have a mismatched certificate. 

C. Dynamic Branch to Branch is not enabled. 

D. Spoke Edge and Hub Edge are two different Edge models. 

Correct Answer: AB 
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